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Anna is _____ years old.

Answer: ___________________

Bob is ________ than Anna.

Answer: ___________________

Anna is ________ than Bob.

Answer: ___________________

John is ________ than Anna.

Answer: ___________________

Anna and Bob are ________ years old.

Answer: ___________________

Mary is ________ than Bob.

Answer: ___________________

Bob is ________ than Mary.

Answer: ___________________

Anna is ________ than Mary.

Answer: ___________________

John is ________ than Mary.

Answer: ___________________

Mary is ________ than John.

Answer: ___________________



Answers

Anna is _____ years old.

Answer: fifteen

Bob is ________ than Anna.

Answer: older

Anna is ________ than Bob.

Answer: younger

John is ________ than Anna.

Answer: younger

Anna and Bob are ________ years old.

Answer: thirty

Mary is ________ than Bob.

Answer: older

Bob is ________ than Mary.

Answer: younger

Anna is ________ than Mary.

Answer: younger

John is ________ than Mary.

Answer: older

Mary is ________ than John.

Answer: younger


